Week 6

1x1= 11 x 12 = 10 x 12 = Ix5m= 1x9 = Txle=
1x5= 1x2 = 2xb5 = bxl = 2x9 = 4 x5 =
Ixl= Ix3= Pl = IxT = 6Gxl-= Ix11l =
1x &= G w3 = l1x3 = 11 x7 4w 9 = 3 x9s=
S5x1= 8x9 = Sxb = 8x12 2x7 = S5x11 =
10x 3 = 6x3 = 1x11 = 2x 11 11 x 11 = 1x7 =
S5x3 = QxT = Txh= Tx 7= Txds= 10x 5 =
8x1= 10x1 = SxT = 6 x5 = IxB = 8x11 =
? xl1m= 9x3= Ix10 = Ix 9= GuT = 8x7T =
11x9 = 6x 8= 6x11 = 10x7 10x 9 = 10 x 11 =
11x1-= 11 x3 = 11 x5 = 2x3 = 4 x 11 = Bx5 =
12 x5 = 12 x 12 = Sxg = 12 x7 12 x9 = 12 x 11 =
2xl= 8x3= bxT = 1x12 1x 10 = 7x3=
2x2 = 9 x 11 = 2xb = 2x 8 = 2x12 = Txb =
11 x & = Ix4g = S5x9 = 12 x 2 2uh = 1x6-=
L= bx g = bub = 6x 9 = 4 x 10 = Qx5 =
Sx2 = 10 x 2 = 12 x1 = S5x8 = Ixb = Tx11 =
Txg = bx 4= 6xb = 12 x 3 bx2= 8 x4 =
Tx2m= Oxide= 2x10 = 5x 10 lx &= 5x6 =
Tx8B = 6 x 10 = 12 x 10 = 12 x & 8 x 10 = Bx2-=
10 x & = 9 x4 = Ixli = Ix 8= 12 x8 = 8 x6 =
11x 6 = xb = 10x 6 = Ix2e= 4 x 12 = 9 x 10 =
11 x2 = 6 x 12 = 5x12 = 11 x & 11 x 10 = Bx8 =
Tx12 = 10 x 10 = 12 x 6 = Tx 10 G x 8 = 10x 8 =




Arithmetic
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